
It seems that he was a hard worker.

He seems (          )(          )(          ) a hard worker. （新潟薬大）

☞ seem He was a hard worker. と断言しないで、「・・・らしい」と表現したい。

(0) That he was a hard worker seems.
[Sが長いので、後置する]

(1) … seems that he was a hard worker.
 [sの部分が空いたので It を挿入]

(2)It seems that he was a hard worker.
 [It の位置は、本来Sの位置なので、

that節のheがその位置をねらう]
(３)He  seems that ... was a hard worker.

 [ここでの問題点は？]

heが出て行ってしまうと、that節（名詞節）の中のSが無くなる。
すると・・・・・

a) 節(S + V+ …)でなくなるので、節を導くthatが消滅
b) 動詞wasをこのままでは使えなくなる
　　（wasは、節の中の動詞として使用できる）

解決策は？
a') thatに導かれる節 が消滅しても、同じ内容を句 で表現可能！

seemは、seem to …のように次に不定詞（to + v)を取る
b) 動詞wasは、節の中で時（過去・現在・未来）に関係する
　　重要な働きをしている。ここでは、過去を示している。

(4)He  seems to + v …

(5) ... was a hard worker.
 [ここでの問題点を解決するには？]

past now future

seem(s)

He was a hard worker.
be

be動詞(is)の過去形
（過去）

節(S + V)の中の動詞(V)の表している過去を句で表現する時に、
have + PPの形を使います。 ここでは、have beenとなります。

(３)He  seems to have been  a hard worker.
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１練習問題 A

It seems that he is honest.
He seems (          )(          ) honest.

It appeared that the children were happy.
These children appeared (           )(          ) happy.

It seems that the Romans built this castle.
The Romans seem (          )(          )(          ) this castle.

It seems that my grandpa wrote this novel.
My grandpa seems (          )(          )(          ) this novel.

It appeared the boy had been hurt in the accident.
The boy appeared (          )(          )(          ) hurt in the accident. 

2練習問題 B
It is said that his mother (          ) an actress.
His mother is said to be an actress.

It is said that his mother (          ) an actress.
His mother is said to have been an actress.

It seems that you (              )(               )(               ) my success story.
You seem to be interested in my success story.

It seems (               )(               )(               ) a lie.
He seems to have told a lie.

It seems (               ) the baby in the car (               )(               )
The baby in that car seems to be crying.

3練習問題 C
It seems that  these tourists have lost their way.
These tourists seem (          )(         )(          ) their way.

It is said that his mother (          ) an actress.
His mother is said to be an actress.

It is said that his mother (          ) an actress.
His mother is said to have been an actress.

4練習問題 （Exam）
It is said that nobody knew the truth. （弘前大）
Nobody is said (               )(               )(               ) the truth.

It seems that he wentback to her hometown yesterday.（東京理科大）
She seems (               )(               )(               ) back to her hometown yesterday.

1 練習問題 A 2 練習問題 B 3 練習問題 C 4 練習問題 （Exam）
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